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SUMMARY

This lesson encourages students to consider how Canadian

demographics have changed in the last century and how that
change has impacted the fabric of Canadian society. Students write
a newspaper article to display their learning.

For more information or to give feedback, contact info@arpacanada.ca
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DEMOGRAPHICS

OVERVIEW

Canada’s fertility rate — the number of
children that a woman can be expected
to have in her lifetime — has been
declining for decades.

In 2020, the last year for which the birth rate is
available in Canada, the birth rate hit an all-time low
of 1.40. This is well below the replacement rate of
2.1 that is required to keep a population stable in the
long-term.

Canadians are choosing to have fewer children for

a variety of reasons: rising costs of living, changing
career aspirations, less stable relationships, increasing
prevalence of contraception, and unlimited access to
abortion.

This low fertility rate is concerning because, absent
significant levels of immigration, it will ultimately
lead to an aging and declining population, a situation

that will place immense strain on a developed
economy. Furthermore, a low fertility rate implies
that a country no longer believes that God’s
command to be fruitful, to multiple, and to fill the
earth is important.

Reversing the trend of declining fertility is a long-
term project that requires a renewed appreciation for
children and the desire to have a family. Even within
the Church, the fertility rate is declining (a fact

that will likely be demonstrated in this lesson plan’s
activity). Even in their high school years, students
should consider how their future families may be
connected to the future of Canada.
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ESSENTIAL QUESTION

How is my family connected to the future of Canada?

This essential question is designed to force students to confront an incongruity.
Declining family sizes, an aging population, and insufficient immigration present
a challenge for this generation. This question is designed to stimulate on-going
thought about possible answers to this challenge.

EXPLORE WHAT Display several Bible texts related to children and family and the topic of parental
THE BIBLE HAS responsibility:
TO SAY o Genesis 1:28

o Psalm 127: 3-§
o DPsalm 128: 1-4
o Genesis 30:1,23

ENGAGE AND Distribute Handout 1 — How Well Are We Fulfilling God's Original Command and
EVALUATE NEWS  Handout 3 — Analyzing a news article. Have the students read and analyze the article.

ARTICLES Distribute Handout 2 — Canada’s fertility rate reached a record low in 2020 and a
second copy of Handout 3 — Analyzing a news article. Have the students read and
analyze the article.

Distribute Handout 4 — Comparing two news articles to groups of 2-4 students.
Compare the reasons offered by both articles for Canada’s declining population

trend.
EVALUATE THE Lead a discussion on various consequences of a falling birth rate
CONSEQUENCES « International consequences
OF A FALLING «  Canadian consequences

BIRTH RATE

«  Consequences in the church

ARPACANADA.ca
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ELABORATE ON Have students write a fair-minded and balanced newspaper account that includes:
WHAT A FAIR P tives from both sides of the i
ARTICLE LOOKS erspectives from both sides of the issue
LIKE « Avariety of sources that lend credibility and authenticity to the claims made by

each side
«  Relevant quotations from one or more of their sources

EXPERIENCE HOW Discuss how a declining fertility rate is not just something happening in the secular
THIS IMPACTS world, but also in the church. Ask the student to go home and gather data on the

THE STUDENTS following three questions:

«  How many children did your parents have (i.e. how many siblings do you have,
including yourself)?

+  How many children did your grandparents have (i.e. how many siblings did
each of your two parents have, including themselves)?

+  How many children did your great-grandparents have (i.e. how many siblings
die each of four grandparents have, including themselves)?

Next class, collect the answers from the students, average the “fertility rate” of

the three generations, and draw a graph depicting the fertility rate of Generation

1 (students’ great-grandparents), Generation 2 (students’ grandparents), and
Generation 3 (students’ parents). Ask the students to extrapolate (make an educated
guess based on past data) on how many children they might have in the future. Is
this still above the replacement rate of 2.1? Link back to the Bible texts this Lesson
Plan begins with and lead a discussion about ways we do (or don’t) demonstrate that
we believe children are a blessing from God.
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CANADA'S FERTILITY RATE
REACHED A RECORD LOW IN 2020: STATCAN

Daniel Otis | CTV | May 31,2022 | ctvnews.ca/
canada/canada-s-fertility-rate-reached-a-record-low-
in-2020-statcan-1.5926642

Canada’s fertility rate reached a record low
in 2020.

According to data from Statistics Canada, the fertility
rate fell from 1.47 children per woman in 2019 to
1.40 children in 2020.

Fertility rates have been steadily declining in Canada
since 2009, statistics show. Susan McDaniel, an
adjunct professor of sociology at the University of
Victoria, says that shouldn’t be a cause for concern.

“The trend is for lower birth rates worldwide,”
McDaniel, whose research focuses on demographic
change, told CTVNews.ca. “It’s a good trend.
Basically, it’s better for the children if there are fewer
children, it’s better for the parents if there are fewer
children, and it’s better for the society and the planet
and everything else.”

Statistics Canada says 2020 also saw the lowest
number of births since 2007, as well as the greatest
year-over-year decrease in births since 1997.
Meanwhile, the average age of Canadian mothers at
childbirth increased slightly to 31.3 years. Fertility
rates were lowest in British Columbia and Nova
Scotia and the highest in Nunavut and Saskatchewan.

Although overall births are falling in Canada, the
population is still growing. The 2021 Census showed
Canada’s population had increased by 5.2 per cent to
nearly 37 million, the fastest rate of any G7 country.

“The census clearly shows that we’re growing, not
because of increased fertility or fertility contributing,
but because of immigration,” McDaniel said.

According to Statistics Canada, almost one-quarter of
people aged 15 to 49 changed their fertility plans due
to the COVID-19 pandemic, with most reporting
that they intended to delay having children.

“It is not uncommon for fertility rates to decline
during times of economic distress or social
uncertainty,” Ana Ferrer, an economics professor at
the University of Waterloo, told CTVNews.ca. “In
future years, as the economy recovers, we may expect
to see some recovery in fertility rates, particularly

if the future of the labour force includes more
opportunities for remote interaction and flexible
schedules, which may help women to better combine
family and work.”

McDaniel said the pandemic led to lower fertility
rates worldwide, with one notable exception.

“During the pandemig, it increased a little bit in
Germany,” she said. “People have speculated why
that’s so, and the answer they came up with is
Germany has a better support system for children.”

ARPACANADA.ca



¥ ARPA

CANADA

Demographics Lesson Plan /// HANDOUT 2

HOW WELL ARE WE FULFILLING
GOD’S ORIGINAL COMMAND:?

ARPA | June 21,2022 | arpacanada.ca/articles/how-
well-are-we-fulfilling-gods-original-command/

When God created the world, he gave man a
foundational command commonly known as the
cultural mandate: “be fruitful and multiply and fill
the earth and subdue it, and have dominion” over
it (Genesis 1:28). There are five imperatives in this
cultural mandate, but the first three — be fruitful,
multiply, and fill the earth — all have to do with
reproduction. It is striking that the very first three
commands given by God to His image-bearers have
to do with having children.

So how well are we as humanity in general,
as Canadians, and as Christians fulfilling this
command?

Well, not very well.

HOW WELL ARE WE FULFILLING GOD’S
ORIGINAL COMMAND?

Although Christians and demographers might
have some debate on when or if the earth is “full,”
it is difficult to argue that Canada is “full.” Canada
has one of the lowest population densities of any
country on the planet, with an average of only 4
people per square kilometre. By comparison, the
Netherlands, one of the most densely populated
countries (so excluding islands and city-states) has
a population density 130 times that of Canada, or
518 people per square kilometre. Although much
of Canada’s landmass is not suitable for human
habitation, Canada still has the third most arable land

per person in the world, with 1.04 hectares (0.0104
square kilometres) per person. That’s 17 times as
much farmland per person as the Netherlands (0.06
hectares per person).

Relating to the command to be fruitful and multiply,
Statistics Canada recently published some of the
results of the latest census, focusing on the changing
demographics of Canada. (Statistics Canada oversees
a census of the entire population every five years;

the latest census was in 2021.) Among its findings,

it reports that the total fertility rate — the number of
children that a woman can be expected to have in her
lifetime — has been declining for decades. In 2020,
the last year for which the birth rate is available in
Canada, the birth rate hit an all-time low of 1.40.

What does this statistic mean? Well, the fertility
replacement rate is 2.1, meaning that if the average
woman in Canada had 2.1 children, Canada’s
population would remain the same. This makes
intuitive sense. Each woman would have to have two
children to replace herself and her husband. Since
not every woman lives long enough or is able to have
children, the natural replacement rate is a little bit
higher than two. If fertility rates exceed 2.1, Canada’s
population would grow, but if fertility rates are below
2.1, the Canadian-born population will decline.

With the current fertility rate of 1.40, the Canadian-
born population is guaranteed to decrease in the long
term as more Canadians will die each year than will
be born.

This trend is not unique. The fertility rates across the
G7 (a group of Canada’s comparable wealthy and

ARPACANADA.ca



ARPA

CANADA

democratic peers) are all below the replacement rate
of 2.1 according to the Organization for Economic
Co-operation and Development.

WHY AREN’T WE FULFILLING THIS
COMMAND?

Fertility rates have been falling across the developed
world for a number of reasons. The Institute of
Marriage and Family, which joined the Christian
think tank Cardus in 2016, identified three main
reasons in a past report on Canada’s Shrinking
Families.

First of all, economic factors are incentivizing smaller
families. Raising children is becoming increasingly
expensive, with the Chartered Professional
Accountants of Canada estimating that raising a

child under the age of 18 costs $10,000-$15,000 in
direct costs each year, plus the opportunity costs of
lost wages. Given that the median after-tax income of
Canadian families was $66,800 in 2020, children take
up a substantial portion of a family’s budget. Women
have also increasingly decided to pursue a full-time or
part-time career rather than being homemakers. These
changing preferences have led many women to decide
not to have children or to have a smaller number of
kids than their parents or grandparents did.

Secondly, Canadian families are becoming less stable,
prompting fewer couples to decide to have children.
Cardus’ Canadian Marriage Map demonstrates how,
of the total number of families with children, the
percentage of married couples has declined while the
percentage of common-law couples and lone-parent
families has increased. As of 2016, approximately one-
third of families with children lack a married couple

at the helm. Almost half of all couples — common-law
and married — do not have children.

Thirdly, the prevalence of contraception and
abortion has enabled Canadians to choose when

to have children and how many children to have.
Contraceptive pills, approved in Canada in 1960, as
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well as other forms of contraception have become
widely used. When contraception fails, many
Canadians turn to abortion. Although the number
of documented abortions has been declining over
the past decades (74,155 abortions were reported in
2020), there is little data on the number of abortion
pill prescriptions, which have become increasingly
common in recent years.

WHAT ARE THE CONSEQUENCES OF NOT
FULFILLING THIS COMMAND?

The major consequence of a low fertility rate is an
aging and possibly declining population. Statistics
Canada’s 2021 census report documents how the
Baby Boomer generation (the uncommonly large
age cohort born in the decades after the Second
World War) is retiring from the workforce. In 2016,
the number of people over the age of 65, the age
traditionally associated with retirement, exceeded
the number of people under the age of 15 for the
first time in Canada. Five years later, approximately
one-fifth of the Canadian population (19.0%) is over
the age of 65 while 16.3% of the population is below
the age of 15. This trend is projected to continue, as
the number of retirees grows faster than the number
of children in the foreseeable future. The number of
people in the labour force compared to the number
of retirees is also declining, meaning that there are

increasingly fewer workers paying taxes to support
our retirees each year.

The economic impact of an aging population is
significant. In 2006, the Senate of Canada released a
report on demographics forebodingly entitled The
Demographic Time Bomb: Mitigating the Effects of

Demographic Change in Canada, documenting how
transfers to seniors and the health care costs of seniors
would eat up an increasing percentage of government
spending. This is a major consideration of whether
federal or provincial finances are sustainable in

the long term (over the next 75 years). According

to the Parliamentary Budget Officer’s 2021 Fiscal
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Sustainability Report, the federal government’s
finances and public pension plans are sustainable over
the long-term but provincial/territorial finances are
not sustainable, due primarily to “rising health care
costs due to population ageing.” When the federal
government, provincial/territorial government, and
public pension plans are considered together, their
fiscal policy is not sustainable over the long term,
again, largely because of the aging of the population.

HOW MIGHT WE BETTER FULFILL THIS
COMMAND?

One way to reverse this demographic decline

and at least fill our corner of the earth is through
immigration. And that is precisely what Canada has
done. Despite having a fertility rate well below the
replacement rate (meaning that Canada’s population
should shrink in the long-term) Canada’s population
continues to grow, primarily through immigration.
In 2021, Canada welcomed more immigrants than
any other year in its history — 401,000 — and the
federal government has stated its intentions to keep
immigration rates high. While the populations of
other G7 countries declined (Japan and Italy) or
grew slowly (Germany, France, United States, and
the United Kingdom) in the past five years, Canada’s
population grew relatively quickly at over 1% per year.

While immigration may help mitigate our aging
demographics and help Canadians collectively fill
their country, God’s command to be fruitful and
multiply applies to individuals too. Canadians simply
aren’t having many children. Even Pope Francis
recently pointed out this issue, arguing that too many
people are choosing to have pets instead of children.

Changing the cultural conversation about children
isn’t primarily the task of the government. Given the
economic, cultural, and technological factors that

are encouraging Canadians to have fewer kids, the
ultimate fix isn’t a governmental policy but a renewed
understanding of and appreciation for the goodness
of children. Children are not primarily a financial
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burden, a drag on career aspirations, or an unwelcome
source of work, but a joy and a heritage from the
LORD (e.g. Psalm 127:3-5).

Nevertheless, government policies certainly can

help ease some of these factors. Cash transfers

to parents such as the Canada Child Benefit and
generous parental leave policies alleviate some of the
economic costs of children. Reforming Canada’s laws
on marriage and divorce could help support stable
marriages that are conducive to having children.
Restricting abortion, both surgical abortions in
hospitals and clinics and abortion pills taken at home,
would increase the fertility rate as well.

CONCLUSION

Canada as a country, with a fertility rate of 1.40, is not
fulfilling God’s command to “be fruitful and multiply
and fill the earth” well. Economic factors, cultural
attitudes towards marriage, contraception, and
abortion are all pressuring or enabling Canadians to
have fewer and fewer children. Canada’s low fertility
rate is leading to the rapid aging of our society, a trend
that is only partially offset by increased immigration.
Although changing cultural attitudes towards
children is better led by the Church rather than the
government, government policies can certainly also
be reformed to encourage citizens to be fruitful

and multiply.
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ANALYZING
A NEWS ARTICLE

«  The purpose of this organizer is to help assess the credibility and worldview of news articles.

INFORMATION IN THE ARTICLE:

What is the “lead”

of the article? What
story pulls the reader
in?

‘What is the main
idea of the article?

Supporting
evidence #1

Supporting
evidence #2

Supporting
evidence #3
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Authors often quote
their sources of
information to lend
credibility to their
claims. What are
the author’s sources
of information?
Include a quote
from each of these
sources that you
think is revealing and
informative.
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INFORMATION IN THE ARTICLE:

Source of
Information:

Quote from Source:

Source of
Information:

Quote from Source:

Source of
Information:

Quote from Source:

What perspective
or worldview is
represented in this
article?

Which perspective
or worldview is not
included?
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COMPARING
TWO NEWS ARTICLES

« Identify some of the different reasons presented in the two articles for why Canada is experiencing its current population trends.

HOW SIMILAR OR DIFFERENT
ARE THE TWO REASONS? DOES YOUR

REASON OFFERED BY CTV ARTICLE REASON OFFERED BY ARPA ARTICLE OPINION OF ONE REASON CHANGE
AFTER READING THE OTHER?




